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gx - Suppose that your weight, w, in pounds, is a function w = F (¢,m) of the number of
calories, ¢, you consume daily and the number of minutes, m, you exercise daily.

(a) What are the units of £2(c,m)? A’ 4

(b) What is the practical meaning of the statement 22(2100,20) = 0.007?

(c) What are the units of 22(c,m)? _

(d) What is the practical meaning of the statement 2%(2100, 20) = —0.2?7

(e) Assume that w(2100,20) = 120, ££(2100,20) = —0.2. Estimate w(2100, 25).
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For Problems @\,q?) refer to Table 9.5 giving the wind-chill factor, C in °F, as a function f (w,T)
of the wind speed, w, and the temperature, T". The wind-chill factor is a temperature which tells you

how cold it feels, as a result of the combination of wind and temperature.

TABLES.S Wind-chillfactor °F) ~ &— \ —
\ /l\ mpn\°F | 35 |30 ] 25 ] 20] 15| w] s| o0
s3] 2] 16| 12 7 =
) 10 || 22 | 16 3| 3| -9 | -15 | -22
5| 16] 9] 2| -5 [ -1 ]| -18] 25| =31
J, 20 | 12| 4| -3 | -10] -17 | 24| 31 | -39
5 | 8| 1| -7 | -15] -22| -29 | 36 | -4

() Estimate f,(10,25). What does your answer mean in practical terms?
UOS Estimate fr(5,20). What does your answer mean in practical terms?
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